
Side c is always the hypotenuse (across from 90° angle)-

𝑎ଶ + 𝑏ଶ = 𝑐ଶ   ○

√(𝑎ଶ+𝑏ଶ) = 𝑐○

Use to solve for the hypotenuse (side c)-

𝑎ଶ = 𝑐ଶ −  𝑏ଶ○

𝑎 = √(𝑐ଶ − 𝑏ଶ)○

Use to solve for other sides (either a or b)-

7.1: Pythagorean Theorem

𝒔𝑖𝑛𝐴 =
𝒐𝑝𝑝

𝒉𝑦𝑝
⎯⎯⎯⎯○

Think: SOH-
7.2: The Sine Ratio

𝒄𝑜𝑠𝐴 =
𝒂𝑑𝑗

𝒉𝑦𝑝
⎯⎯⎯⎯○

Think: CAH-
7.3: The Cosine Ratio

𝒕𝑎𝑛𝐴 =
𝒐𝑝𝑝

𝒂𝑑𝑗
⎯⎯⎯⎯○

Think: TOA-
7.4: The Tangent Ratio

Determine which ratio to use based on SOH CAH TOA-
Set up the ratio: ie 𝑠𝑖𝑛𝐴 =

௢௣௣

௛௬௣
⎯⎯⎯-

∠𝐴 = 𝑠𝑖𝑛ିଵ
𝑜𝑝𝑝

ℎ𝑦𝑝
⎯⎯⎯

Inverse the ratio (fraction/decimal) to get the angle:-

7.5: Finding Angles and Solving Right Triangles
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